Horizontal: S3

Subtracting Decimals | Thousandths

1) 926.418 - 850.374 = 2) 62.856 - 41.036 =

3) 231.526 - 93.807 = 4) 457.024 - 2.068 =

‘Preview

Become a member to unlock

unrestricted access to both printable
and online worksheets.

www.tutoringhour.com

a) 9.537 ounces b) 8.357 ounces c) 9.357 ounces

9) Nolan filled 8.973 gallons of gasoline in his car. After a trip, based on its milage
he calculated that he used 3.451 gallons of gasoline. How many gallons he
has left?

a) 5.111 gallons b) 5.522 gallons c¢) 4.111 gallons

Teaching Resources @ www.tutoringhour.com



